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Supplemental Table S2 : Linear regression (Number of obs =      41; F(  1,    39) =    0.15

Prob > F      =  0.6990; R-squared     =  0.0065; Root MSE      =   .4261)



------------------------------------------------------------------------------

             |               Robust

    do260280 |      Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

       rnase |    -.08125   .2085984    -0.39   0.699    -.5031801    .3406801

       _cons |    1.94125   .0644703    30.11   0.000     1.810847    2.071653

------------------------------------------------------------------------------


